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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

In asurvey it was found that 21 people liked
product A, 26 liked product B and 29 liked
product C. If 14 people liked products A
and B, 12 people liked products C and A,
14 people liked products B and C and
8 liked all the three products. Then the
number of people who liked product C only

15 :
Options:
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Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 )

TF TE | g8 I T 5 21 @ 4 95 A
= TH= T, 26 7 9% B 1 UH R qe
29 9 9% C &1 W= fFa1 afs 14 @ 3
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Options:
1. 4

> 6
T

4 12

Question Number : 1 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
slg w5 udgeRl Vg WU U B 5 21 dlsl
i, A A WiE 52 9, 26 dlsl g, B A WE 52
£ il 20 dlsl dae) C A e 53 6. od 14 disl
gl A 2 B L WE 52l €1, 12 dlst il
C 21 A A WHE il 614, 14 dlsl Rl B
vl C oA YHE 53t Gl 21l 8 AlSL ABLH drdj2lin
YHE Sl @1, ol 55 dq C A WiE 53l ¢l
aell dlsiHl wiva 8.

Options:

p 4
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Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

, &l

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

gty waae ¥ fag w= Re(z) 4
|z|=3, % fagua ¥ :

Izl

Options:
1. O W&
s G YA
5, TF SR

4 T S
Question Number : 2 Question Type: MCQ Option Shuffling 4 Yies Display Question Number : Yes Single Line Question Option :

| =

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
Hgz duqioilel MHAddl |z =3 A ddld de [Gg

w= Re(z) + =, Il Blgua ==

Options:
1 Y HM

, g
o Guuay

4 llozeay
Question Number : 2 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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: : 1 ®
The locus of the point w = Re(z) + — p—
- \IeW
where |z| =3, in complex plane is :

Options:
, @ parabola

5 a circle
5 an ellipse

i a hyperbola

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[f each pair of three equations
x2 —pix+2=0, xZ— pyx+3=0,
x2—p.x+6=0
have a common root, then the positive
values of py, p,, p; are, respectively : N

Options:
, 345
52,36

2 1,3,6

g 3,56

Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

x2- px+2=0, Iz-p:,_x'l' 3=0,
a2 —px+6=0

% UEE T FH UH WA qA E,
Py Py Py TACTE AF FA: T

Options:
. 345

52,36
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Question Number : 3 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
el wlsel
xz—plx-i-2=[],x‘1-—pzx+3=ﬂ,
x2— pax+6=0
Hizdl g5 sdsd sd @5 e ol el dl
ppp,@rip, Alad Budladgsnt
8.

Options:
. 345

5 23,6
5 1,3,6

i 3,56

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
| 35 b v |
Let A=|b 3c a | bea3x3 matrix
¢ a 3b
wherea, b, ceR. Ifabc=1, AAT =641, and
det (A) > 0, then (a® +b* + ), is :

Options:
1 21

5 11

L
~J

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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3a b ¢

O]
HFMA=|b 3 a| 3x3F & AT l\‘/l:W

c a 3b

T V@ a, b, ceR. AGabe=1, AAT=641,
Aqldet (A)> 0, (@@ +b3+3) B :

Options:

1. 21

5 11

Question Number : 4 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

3a b ¢
arls A=|b 3c a | »3x3 sy s <
¢ a b

sédl a, b, ceR. od abc=1, AAT=641, 24
det (A) > 0, dl (a®+b3+c%)  wwR
- £9.

Options:

1 21

5 11

o
~]

Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The value of “a” for which system of linear

equations
x+ay+z=1
axr+y+z=1
x+y+az=1

has no solubion is :

Options:
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Question Number : 5 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
‘2’ 1 92 "M, Tog for thass gH= fsm

x+ay+z=1

ax+y+z=

x+ytaz=1

FHLTATE G, B

Options:

1. 1

o 1 Q
i

3 T

Question Number : 5 Question Type: MCQ Option:Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
yyu walszen wled

x+ay+z=1
ax+y+z=1
x+y+az=1
4 =5 yel Gy A i, d el ‘a” Al Bud
~ 8,
Options:
1. 1
5 1
i
= T
—_0
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Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine Questio@)ption :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 I\‘/IEW

The maximum number of points of
intersection of 4 distinct circles and 8
distinct straight lines, is :

Options:
1. 66

> 64

40

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

= ot gl a3 T weet Tl 3 wfawseer

Options: ~
1. 66

> 64

40

Question Number : 6 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
4 (G gl oA 8 (Bt a2l AL SE[Gg21A
T v 8,

Options:
1, 66

> 64
= 14

40
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Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine Questio@)ption :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 I\‘/IEW

The sum of all the coeflicients in the
binomial expansionof (1 +x)"is 1024. Then
the largest coefficient in the expansion is:

Options:
1. 512

5 252
= 256

4, 352

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(1+x)" & f5Ue THR & [ T F am

1024 2, @1 59 T9R H SATHaH T ¢

Options:

1. D12 ~

> 252
3. 256

4, 352

Question Number : 7 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
(1+x)0 A [guel [Sedreril wedisidl ureol
1024 5. dl 2l ezl dedy 2o

Options:
1. 512

5 252
= 256

4, 352

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
[f three real numbers, a, b, ¢, all greater than
one, are in a geomelric progression such

t.logﬁ a log.b log.c
X 2y 3z

and z are non-zero real numbers, then :

tha , where x, y

Options:
2y=x+3z

1
o dy=x+3z

g 2Yy=x+z

4 y=I+z
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Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

e 9 ardfas T a, b, c (79% 1 9
FAfw) TR 4% 4 39 UFR ¥ fE

'Ingﬁa 3 log.b _ log.c

, W&l x, y 991 z
X 2y 3z J

AY A G, 9
Options:
2y=x+3z

1.
> dy=x+3z

= 2y=x+z

i y=x+z

Question Number : 8 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

sda, b c 2l did 1 53l Wil Aol wrdls
vl Wyapeliaz fell (G.P.) ol ¢ s o2l

'Iogea __log.b  log.c

U, sl x, 1 2

x 2y 3z
z el Aldls vl 8, dl
Options:
| Yy=x+3z
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5 2y=x+z

4 Y=x+2z

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The sum of the first 19 terms of the series

1242224324 2424524+ ... is:

Options:
1 4200

, 4410

5 3800

43ﬂﬂ

o

Question Number : 9 Question Type: MCQ Option Shuffling : Yes DRisplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
it
12+2:22 432 +2:424+ 52+ .....
% WIH 19 WS H I :

Options:
1 4200

5 410

5 3800

43ﬂﬂ

Question Number : 9 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
%l
1242224324+ 2424524 .
AL MM 19 gl MRl .
Options:
;4200
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4410

; @L_
VW

2 3800

4 3A10

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If f: R —» R be a differentiable function such
that f(3)=7 and ('(3)=1, then the value of

flx) 4.2
|.iI‘t‘l I %LtLi iq:
-3 ) (x-3)

Options:
1 21

5 147
5 441

4. 105

Question Number : 10 Question Type: MCQ Option Shuffling, Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AR > R UH ATE Fer 59 THE &1
f@)=7aaf @) =11

.JI{-'L} ":-L-—
lim -[ ——dt A T
-3 Jr (X — 3)

Options:
1. 21

- 147
3 441

4 105

Question Number : 10 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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od (@44 f: R > R [S5al4 & d2u f(3)=7 2

0]
f(3)=1 €4, NVA

_.ﬁ::l} }rL
lim it i
Im1 L x—3)" Al Byt

&

Options:
1. 21

- 147
3 441

4 105

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Jra.xz Fbx +4. 2= -1
[’m“ Fa cx<—1
RN e R R AFFHE €, 91 A(2) TR
g

Options:

1. 16

afg f(x) = BT

z. —4
2.2

4. 12

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct MarKS' 4 WrongMarks: 1

lax? + bx 4 4 x=-1
fx) =4

tb;t" Fa ,x<—1
gL v ild [Bad flx) od R wr [Esadl ey,
dl f2) e 8.

Options:
1 16

o —4


https://aview.in/
https://aview.in/

3 20

®
N\ IEW

Question Number : 11 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If the function f{x) defined by

ja:rz tbx +4,x = -1

[hlea x<—1

f(x) =

is differentiable on R, then f{2) equals :

Options:
1 16

o —4
3 20

4 12 x

Question Number : 12 Question Type: MCQ Option Shuffling,: Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let m(b) be the minimum value of the
function f(x) defined by
flx)=(1+b?x?+4bx +4, x e R.

If the range of m(b) is the interval [2; 4],
then the range of values of b is the
interval :

Options:
1. 10,1]
[—1,0]

{1
Ny

3.

A

k| =
e T |

[-1,1]

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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HA f(x)=(1+b2)x2+4bx+4, x € R 5 ©
TR e F EaH BF m(b) ¥1 A N\ IEW
m(b) 1 IR, a0 [2, 4] %, 91 b % HE #

fer = & g w1 e &2

Options:
1. 10,1]

[—1,0]

[1
2!’

3
[-11]

z.

[J | =
T |

4,

Question Number : 12 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AL 5 flx)=(1+b%a2+4bx +4, x € R gRL
eyl [BEY fix) Al 4dd Bud mb) ©.
od m(b) -l [Sar, idud [2,4] €A, dl b -l
oz 8.

Options:

1. 10,1]

[—1,0]

Ef

3
[-11]

z.

4,

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The equation x*+e*+5=0 (x € R), has:

Options:
1 ho solution

> exactly one solution
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3 exactly two solutions

O)
VAR
" infinitely many solutions

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HHEW 2 +e* +5=0 (xe R) :

Options:

| 1 T B T 2

E_Hqﬁﬁﬁa%l

=, =

5 FAAT AL

FoTaEAa s
4

Question Number : 13 Question Type: MCQ Option Shuffling : Yes Display\Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
W52 P+ et +5=0 (x e R), 4
Options:

i wis Yol Giy 8l

5 URIGR W5 o G5 B,
5 R o o Ghdl .

wieict Goell .

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let

J-{sin .1'}{ Jx— 41—._} dx =sinx f(x)— Jx g(x)+C,

Y1
where C is a constant of integration.
Then f(x) and g(x) are, respectively,
Options:
1

— 7 and cosx
1 2Vx
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Jx and —sinx \‘/?_w
4 =

5

% and — cosx

3 ¥

.2 1,;'; and sinx

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HHAT

j{smx}i\q{_'— ] x =sinx f( 1}—1,1"_3 x}+C,

WCWWW% @ f(x) 790 g(x)

FANM: T
Options:
1

1 2\1,; a9l cosx
o Jx @0 —sinx

2

—— O¥Yl —cosx
3 VX
, 24x TIsinx

Question Number : 14 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Qizl 5
. r'
I{sinx}i Vr = L} dx =sinx f(x)— Jr g(x)+C,

. '

sedl C 24 sl 2105 5, dlf(x) 2 g(x)
UAsH 8.

Options:
'i

,} -UH COSY
1. A-"u'

Jr @ —sinx
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\VIEW
2%t sinx

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

If flx) = [x?] + g(x), where [x] represents the
greatest integer = x, and

g(x) = 1x

S
| L
I =
1A
L2

2| A

5
then the value of : f(x)dx is:

]
3
Options:

;44242
> 4-22

5]

B s
4 <

Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
AfE flx) = [x2] + g (x), 53 [x], x 3 THA A1 59
FH Hewd Ui &, a9

3

I

-

M

el

(%]
—
Fo
R
Il
ety L
-t
[

I
-

]

[-3

=

i,

f

P

I :
B3 A

| ) FEARE

[T

Options:
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Question Number : 15 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
od flx) =[x2] + g(x), sedl [x] 2 x 2l AL 242
A M A yeUs el el yels suld
3
2x-3, —=x<-—1
2

8w glx)= {x 1=x

<1
' 3
13-2x, 1=x=—
2
dl | foyde UGB 8
3
Options:
, 4+242
5 4-242
= 1
15
= -22
g 2

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The area (in sqg. units) of the finite region
x

bounded by the curves y2=x and ¥ = 3

is :

Options:

9

1, 2
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Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

1.

= X = =
w1 yP=x T Y = - G fAR i A=
arel (7 sl H) 7
Opt_ions:

9
2

| 13

: =)
u|.q

= | o

Question Number : 16 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

- o oy X s . - .
Al yP=x 2l ¥ = 2 GRL g Ui detly
BAs0L (ML @iswl)

Options:

1.

=]

2

|13

; [o®)
u|ﬂ
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Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The solution curve of the differential

di
equation i B _'::2}—“"I / 31‘}; =
dx (1 + x°)
passing through the point (1, 0) is :
Options:
== 2 ltan_Ix I]
1 1+ _1'2 % 4J
[ N
y=— a[tan—ll X}
3 1 +x J
y = tan 'x T
= ; 1 4 1‘2 8 .
ot 2tan ' x ™
4 14 x‘j' 4

Question Number : 17 Question Type: MCQ Option‘shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

ATFA HFI
' di 1
(1 1'21d—"f F2xy = ———— & & 9,
X (1 + x°)
5 R fag (1,0) AT T Y, T
Options:
Y= 2 [tarl_lx I]
1 1 |_l'2\ 4J
/ \
¥ = ! j{taﬂ_ll —'|
> 1 +x* 4
y = tan I.l' T
: 1 + 5~ 85
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Question Number : 17 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[as4 wHlse

2. di 1 .
1+x)L 42y = ——— QAR (1,0)
dx (1 +x%) S
Wizl wair udl Gsd 9s 8.
Options:
Y= 2 [tan_lx I]
] | xz ', 4 )
¢ \
y — 1 j{tﬂ.ﬂ_l i = |
5 1+x 7
G tan !x T
3 : 1 +.5" 8
2tan | ¥
== biach
4 1+2° t

Question Number : 18 Question Type: MCQ OptionShuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The straight line which passes through the
point of intersection of the straight lines
x+y=>5and x—y=2 and is perpendicular
to the straight line 2x+5y=4 also passes
through the point :

Options:
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Question Number : 18 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

9% HEl @], S B @S x+y=>5 990
x —y=2 % Wia=ed fag 4 S Sl T 3R
WA T 20+ 5y =4 F oead & e # A

o Forg & off S T -
Opt_ions:
2 (3, 1)
53
(-2.20) g
@ X 2.2

Question Number : 18 Question Type: MCQ Option Shuffling :*Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
oyl x+y=>5 Wi x—y=2 -l gﬁEﬁiﬁ"ﬂﬂ
Yuz Al 2 ol 20 +5y=4 A dot &M, d

E [Ciguizdl wel war M B,
Opt_ions:
b3
., 2 2
2 (3, 1)
'[1 7
2 \2° 2]
-3 2]
4 202

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1 @
An ellipse has ilts centre al the origin and —
P & \IeW

its minor axis is along the x-axis. If the
distance between its foci is equal to the
length of the minor axis and length of its
latus rectum is 4, then which of the
following points lies on this ellipse ?

Options:

, (2.242)
> (2,+2)
. (V2,22)

" (242 ,2)

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e ST 1 s T {95 T E 991 59 Y )
e, x-A9 F AW &1 Al sHH! A F

== g o A H o= F S € qd

SHH A e oE A a4, a1 A E A

FH-11 fag 70 grfga W foum 272

Options:

, (2.242)
> (2,+2)
. (V2,22)

" (242 ,2)

Question Number : 19 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s1d s Guaaud 5w Gorllg »uam & 2
ddl Sl 28 xR 8. et ol At
el 2AcR el JUeL gl doltd s/eg €ld 2
AGcAL dotd 4 i, di Al sl 54 g 20
Guaed w2 2044 87


https://aview.in/
https://aview.in/

Options:

e _
, (2,22) IcW

> (2,+2)

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The positive value of A for which the
straight line 4x—3y+ A=0 touches the
circle x>+ y>—4x+6y—3=0is :

Options:

1 4

Question Number : 20 Question Type: MCQ OptionShuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

\ 1 FE TAreHF °F, faas fov @wa
4x—3y+A=0,Fx2+ 2 —dx + 6y —3 =0
o9 FAA T, T

Options:

1 4

Question Number : 20 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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2l dx—=3y+Aa=0 2 ‘:lr:L,U'l O]
X242 —dx+6y—3=0 A 2wl & w2+ A Al N IEW
et [Sua 8.

Options:
1. 4

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a normal to the parabola, y>=4x is
perpendicular to the line, 3y + x + 1=0, then
the ordinate of the point of intersection of
this normal with the directrix of the
parabola, is :

Options: 3

1. —-33

3. 33

4. 36

Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ife qaed yl=4x &1 TF Afger=, 1@
3y+x+1=0T TF=ed g T 59 Afverd #
g F1 3@ (directrix) F A qfsseq
a5 &1 FI7E (ordinate) €

Options:

1. —33

3 =28

3. 33
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O)
Question Number : 21 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine v 1
No Option Orientation : Vertical I\ CIEW

Correct Marks: 4 Wrong Marks: 1
o YA 2 =4 <Al 2B U B3y +x +1=0
o dof @1, ol 2L 2eid et w40 wreaHl st
Al SElCigAl B,

Options:

1. —-33

5 =28
3. 33

4. 36

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let S and S' be the foci of the ellipse

=
]

I =1 and let A be the point (0, b).

I3

’3"|‘~:
k3| ha

a

If SA and S'A are perpendicular to each
other, then the eccentricity of the ellipse
Is :

Options:

1
3
4 V&

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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THL W A=A €, ol a9 o Sehadl €

Options:
J3
2
2

2. V2 !
1
3 V3
S
[y
4. Ve

Question Number : 22 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 >,
7 7
FHY S X X <
QAL 3 SuAS A Buaen T+ L =1
a“ B"

AllGll 8 2 aiRLS A« [65 (0,b) ©. sd SA
i S'A wisofload det g, ol 2 Guaausdl

Gebegdl &,
Options:
J3
;2
2
2. V2 1
.
3 V3
1
3
4. V&

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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The length of the perpendicular from the

O]
_pnint (1, 2, 6) on the line [\‘/IEW
x—3 _y+1l_z 5

is :
2 1 2
Options:
, N2

> B

a5

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

fag(1,2,6)@mm* 3 _y+t1 _z2-5

T @i T o ] o ©
Options:

p V2

> V3

3 2

a5

Question Number : 23 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Gig,26dlmr—3 _Yy+tl_z-5
el

2 1 2
el dodl dend 6,
Options:
1 ﬁ

> V3

3 2
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a5 Q
A

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A plane has intercepts p—1, land p +1 on
the co-ordinate axes x, yand z respectively.
If the distance of the plane from the origin

is L then the largest value of pis:

NG

Options:
1 0

12

V2

3

a3

~

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Risplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 )

UF GHAA % o A4 x, y 791z T HATagus
FA: p—1,1 a0 p + 12 af T9ae =i 7
fag & 20 % #, T p 1 e 5

Options:
1 0

12

V2

3

a3

Question Number : 24 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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518 s HUHALAL ABIEL x, y 24 2 YL i visl \ ©_
§UAsH p—1, 1 21 p+1 8. sd 24 A4 N 1IEW

Gorligadl »ice L €, dl p -l merw Bua
5 F

J3

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
el 5

Let an angle between the vectors a and

—
d

—»

b

='.J

b be ET’T If and the veclors

a+xb and a b are at right angles,
then the value of x is equal to :
Options:

2
%

514 ]

I...l-'lh—"

Question Number : 25 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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a — b % &= F1 HU GHEV 2, 9 x FHA
7

Options:

2
%

™
|

I_..lth—-l

Question Number : 25 Question Type: MCQ Option Shuffling : Yes"Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

N o T W T . -\_'j =
qil 5 dEwl a 2 boazAHL el 2T B,
3

—*

daul HlEwl a +xb A

L

b

—»
d

-

6l

—2

a — b sevsler, dix -l Bud
Options:

2
%

M
] =t U K

o
1| =

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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One player A plays 4 games with another ®
player B. In any game, the probabilities of A\ _\A,
A getting points 0, 1and 2are 0.45, 0.05 and '\ /I=

0.5 respectively. Assuming that the

outcomes are independent, the probability

of A getting a total of 7 points is :

Options:
X
1 20
1
> 40
3
5 40
)
4 10

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display-Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical N

Correct Marks: 4 WrongMarks: 1

T figerEl A, T faensi B & 919 4 71
{games}@ﬂﬂf%l FE T HAFO, 1992
3% (points) T 4 1 AT HA: 0.45,
0.05 T 0.5 ¥ 9% OFd gu fF | aiorm
(outmmes}ﬁ?fﬂ%,ri%? FA7 AF THHG

T W & :
Options:
el
1 20
1
- 40
.
5 40
£
4. 10

Question Number : 26 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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(st airdl, A oiRiez 7 »isl o qod sl

by

sl 8.
Options:
1
1 20

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display\Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The mean deviation about the median of
the data set

4,10,6,4,13,11,19, m, 8, 7
wherem = 11 is an mteger, is 4.
Then m is equal to:

Options:
1. 14

s 15

= 16

4 17

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

afe SAFHS F THE

4,10,6,4,13,11,19, m, 8, 7

FEm = 11 UF YUl 2, i A F de
e faaem4 €, @ m TR T :

Options:
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s 15
16

4 17

Question Number : 27 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

YUl 2ve

4,10,6,4,13,11,19, m, 8, 7

sedl m = 11 Yells 8, 4 weurzedl Wl Fuad
48, dmoeRtR B,

Options:
1. 14

= 15

- 16

7 17

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The value of l cotee where

oL E S

' =

5={u:1'-’iu"_=? T and
{ 4 4

_1_[.'0:53&' _1_.‘iil'lzﬁ._ _1_} 15 :

Options:
1. —1

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1

4{::352 @ 45!'n2u= _1} I HHA T :

Options:
1. =1

®
N\ IEW

Question Number : 28 Question Type: MCQ Option Shuffling : Yes Display QuestionsNumber : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

=
i

éi5={tt:iﬁttf
, 4

_1{:052[1| 4sil12{1: _1_} téﬂ'i_l{_ :{l - ZCG’E[‘( -ﬁ

(yua B,

Options:
1. —1

i
4

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

The expression

f

when( <x <1, isequal to:
Options:

1,

\I(cms{tan Ix] t xsin(tan I_r}.]z
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1
{ 2
z VX 1
x
i 1 4 32

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

B
II' 3
w{cos{tm‘n ! x) + xsin(tan | 1‘]) : 5
a fR0<x<1, a0 E
Options:
.

2.
1
X
4 1+ x°

Question Number : 29 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

-

MIl'(CGE(tan Ix} t xsin(tan lx])— 2 i

D<x<1or 8.

Options:
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Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The equivalent expression of

(PAq) v (~paq)is
Options:
, PAY

g PN
= WAV ~p)VP

, @V ~p)ag

Question Number : 30 Question Type: MCQ Option Shuffling: Yes Dlsplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(p A q) W ("-p A L]_] %Fq@m%
Options:

, PAY

3 PN

;. (@v-p)vp

g (q v ~p)rq

Question Number : 30 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Prqg)v(ipag = A
HHSH .

Options:

;. P Y

5 PN
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. (@v-p)vp

. @V ~p)rgq

Section Id :

Section Number :

Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

Aptitude Test

416529212
2

Online
Mandatory
9

9

200

Yes

No

1
416529327
Yes

~

VAR

Question Type: COMPREHENSION Sub Question Shuffling Allowed.,: Yes/Group Comprehension Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

Directions : The 3 - D figure shows the view ofanobject. Identify the correct top view from amongst

the answer figures.

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Options:

1.‘7
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4.

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o
T
.-'-l

Iu.wq e,

e
- -

A, ey
o o "

ey

]

R
- ."\-\.__
]
-
-

Options:

2

H
3.
Rt

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

[T

1. ——



https://aview.in/
https://aview.in/

VAR

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

-
Pl 53

# .;II_,-'

N A
<A Y|
NG
H'-\.\,.‘.:‘.H"F:\:i____-" -~
Options:

1.

S
= [
4 b=l

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o~
P
-
", -~
#l__.-"\-\.}

it

-

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31 to 35)
Cuesticon Label | Comprehension

39T : 3 - D Wy ampfa W U g F U g9 1 Femrn e e T wE S g9, S ansadi 6 |
ey

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Y.es=Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

"

i = o
-\."__ :__

"

i

-

il )
RO e, ™
e T ot
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- -«._]_,.-'*-\.__ o
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L ¥ .
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e

P
R

Options:

i

7[5 A
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Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine v 1
No Option Orientation : Vertical I\ CIEW

Correct Marks: 4 Wrong Marks: 1

.-"-\'-\.
il b
L L -~
lhwj L J
"___.- By [__.-" o
. =3 e
A -
e , -
L, " -, o

[T
Options:

1

2

3

4

Question Number : 33 Question Type: MCQ Option Shuffling Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:
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Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

LY
..""'H_‘.:"‘-».w:\:; ) -~
Options:

1

, LT
3 dlel §
4 =l

Question Number : 35 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e
. s
w'"\-\. -
s
A
> -
-

Options:
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| AVIEW

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

YAl : 3- D 2gld s ugield g2 odidl 8. ol sigldzilaiall Wi Gl g Al sl

Sub questions

Question Number : 31 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

i
oA

P

L 3

e J

I ] ,JH j:> __..-'"

Question Number : 32 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o
e

m
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Options:

VAR

2. ’_L
H
et

Question Number : 33 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

=

RE=
RS

Question Number : 34 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 35 Question Type: MCQ Option Shuffling : YesDisplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
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Sub-Section Number: 2
Sub-Section 1d: 416529328 \ —
Question Shuffling Allowed : Yes l\ /I:W

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36 to 39)
Juestion Label - Comprehension

Directions : The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

iR

Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A
AN

Options:
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s

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=7
T

Options:

ey
, ot
, 5

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

T

N falll
Il

Question Type: COMPREHENSION Sub Question Shuffling Allowed: Yes Group Comprehension Questions: No
Question Numbers: (36 to 39)
Juestion Label - Comprehension

Fe9T : v arfa ® awqeti @ 94 gva fommr o © | OR &1 fae ¥ Sid g 3 sTaiadl § 9 98 99
Y9 TEE |
Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

i
i

—
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P

Options:

TH[

il |
N

il

Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=y
T

Options:

Sy
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Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options: ~

aalll

el
__Imln

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (36to 39)
Cuestion Label @ Comprehension

Yl 1wl 2tgld ugeld Gludl g i 8. dledl [Fuml sadl, svener 2uglazdmiall Wiz Gleid g 2A0ul

Sub questions

Question Number : 36 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 37 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
0 W

Options:

H
il
pLillE
el
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Question Number : 38 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine Questi@ Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 I\‘/IEW

=7
*'r

Options:

.y
i
=

Question Number : 39 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

E
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Sub-Section Number: 3
Sub-Section 1d: 416529329
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (40 to 44)
Juestion Label | Comprehension

Directions : Which one of the answer figure will complete the sequence of the three problem figures

Sub questions

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

) e,
AN I o

T —— il fri

! ! i"/:-r'T“* i I}J’:’:‘k_ =5
A i | af H_’:; LY L, ».""I ;
L '.v\’},.- i i) ~y I'.)lé'-\"'llﬂ'-"f 2

N 4 ~(Y/
L= w L

Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:
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Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

.-""f_h‘"\ r"'---..h"‘-.

L J {x

- [

Options:

7

r

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

S ® R °

Options:
&_K]
1. <
i 'I\._.-I
2 3
25|

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (40to 44)
Juestion Label @ Comprehension

ST : S ATHTE § | HH H ATHT BIG T ATHETE F T H SFTHE (sequence) T B ST 2

Sub questions

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(&)
:
3.

Question Number : 42 Question Type: MCQ Option Shuffling.;"Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

FR PR

\ J ::1 /'a {_‘.1 :_f ?

Options:

I.
l'l

Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

N AN AN
(X % ?

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (40 to 44)
Cesticn Label | Comprehiension

YanL : selol 2u5ld2inidHl 59 2uslad we suslazinidl el 2uglazidl Sel yel 52217

Sub questions

Question Number : 40 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Question Number : 41 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 S

<] e

Options:

Question Number : 42 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

N SN
() () () 7
\‘\-. H",_.-'f K‘. f"

Options:
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Question Number : 43 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

.r"..lr -.\‘- r"’f R y
FoN
| SE—
Options:
1. N
r"f-’.ﬂx""'
.'I I|_
N
2 —
.r'n"-
7 1'\\
3. . 1
i h
.'r ."\.
{ Y
4

Question Number : 44 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

N KN KT
N (X @[V ?

Options:
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Sub-Section Number: 4
Sub-Section 1d: 416529330
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (45 to 47)
Cuestion Label @ Comprehension

Directions : Which one of the answer figures shows the correct view of the 3 - D problem figure after
the problem figure is opened up ?
Sub questions

Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 Q
Ll
Options:
DR R ==
L]
I g
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[

Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o .
.
¥ g

o]

Options:
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i
-
nfln
L _J L
.
T

Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

-

11 lﬂ : |||E||| i

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (45 to 47)
Cuestion Label © Comprehension

99T : 3 - D Y99 311fa &1 @ie W, SR SEHfaal § | Fe 999 HF 91 6 2
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Sub questions

s W
Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLin!& i tior:
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

=
|

]

=
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Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

~
= .a-:
A ] ___.f"'

&

Options:

|—|
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I 11T
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el

Question Number : 47 Question Type: MCQ Option Shuffling : Yes ‘Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s
T T

L

Options:

1||Em i Ti |
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4.

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Y esyGroup Comprehension Questions: No
Question Numbers: (45to 47) 3
Cuesticon Label | Comprehiension

Yl © 3- D 3w g ldn vl Aridl st suglaedini-l 59 2ugld W g2 suid 7
Sub questions
Question Number : 45 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1
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Question Number : 46 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o .
.
¥ g

o]

Options:
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Question Number : 47 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

-
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Sub-Section Number: 5
Sub-Section 1d: 416529331
Question Shuffling Allowed : Yes
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: N \ —‘ h’
Question Numbers: (48to 52) '\ /I=
Juestion Label - Comprehension

Directions : One of the following answer figures is hidden in the problem figure in the same size and
direction. Select the correct one.

Sub questions

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

AT
,-f’? i i
r‘--u;c'e-"'{x\_
Options:
I
/,'
=]
D
P
i |
z
—
T |
/;. .'!
4, <

Question Number : 49 Question Type: MCQ Option Shuffling” Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.
—_
A
,

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
N
2 B
z L
4 &1

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e

1. -
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (48 to 52)
Cuestion Label @ Comprehension

Ffor : <) ) Tt S ST A e SR AT SR fewm T w & e S o | B
% =
Sub questions

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

_:."'- I| ,'I‘I
Pl
,z-‘--m{cl-"'{\\_
Options:
1.
-
=]
i e
P
& |
3 R |
—
My 'I
/-;. .'!
4 <

Question Number : 49 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

.
—_
A
,

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1

VAR

Options:
R
2. B
3.
4. &1

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

=T
Fy

Options:

1.
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (48 to 52)
Cuestion Label @ Comprehension

AL T HY 2 (R0 A €l Sl svetion 2 [l 2is 2ugld e 2ugldl susid §. sl sree 2L
Sub questions

Question Number : 48 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
S ..r

Question Number : 49 Question Type: MCQ OptionShuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

;' .-"} ” _.I"

.'-" 5 J,f,r
d
L= 4.&‘___

:I-r".}
o
Ly
;r’fff}”

Options:

Question Number : 50 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:
N
2 B
z L
4 &1

Question Number : 51 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Question Number : 52 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e

1. -
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VAR

Sub-Section Number: 6
Sub-Section Id: 416529332
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (53 to 57)
Cuestion Label @ Comprehension

Directions : Which one of the answer figures is the correct mirror image of the problem figure with
respect to X- X7

Sub questions

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
-,
L]
I
(X)
Options:
el
.,
1.
- A
PV
2.
7V
T

[

s KL

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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(X)

Options:

~

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

Ty
[t
)
(X)
Options:
™
o 1
{ —— :-""
Frh D
1. Y
(™
ahes
2. L |
|__i\\_/;.
(>
2
3 U
|____\_\._ A !
E e
-~ _‘—"- Y
i =
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Question Number : 56 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine Qu&ti@ Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 I\‘/IEW
(X)

(X)

K =7
e =
i
A Y
= ;
SV /
'
e
)
4 .-':.;:i"'"/:,_\_\.

Question Number : 57 Question Type: MCQ Option Shuffling” Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (53t057)
Cestion Label | Comprehiension

ﬁ_ﬁw:wmﬁﬁiﬁﬁﬁ?ﬁ a@ﬁﬁﬂﬂ%ﬂﬁﬂ@ﬁlmxmﬁqﬁfﬁﬁﬂéaﬁwmé?

Sub questions

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)
s
L1
I
(X)
Options:
o
\‘\. .‘, ~
1.
o 1
Vs
i
3 &

[,

s KL

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)

Options:

(X)
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VAR

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

(X)

(X)

Question Number : 56 Question Type
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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Options:

r /’/'_’.__a-}?.
;7 \\l

. ",-" R N

7
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Question Number : 57 Question Type: MCQ Option Shuffling : YesiDisplay Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

(X)

Options:

N\
A Ny
N

S vy
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (53t057)
Cestion Label | Comprehiension

Yl 1 oretied 2AglainidAl 58 2usla, Wt 2ugldd X- X A i Wi 2l uble 97

Sub questions

Question Number : 53 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

(X)
=,
L L
I
(X)
Options:
el
\"\. . ~
1.
o A
oL
i
e

Question Number : 54 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

(X)

Options:

(X)
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VAR

Question Number : 55 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

(X)

(X)

Question Number : 56 Question Type
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
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(X
Options:

r /’/'_’.__a-}?.
;7 \\l

. ",-" R N
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Question Number : 57 Question Type: MCQ Option Shuffling : YesiDisplay Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

(X)

Options:

N\
A Ny
N

S vy
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Sub-Section Number: 7
Sub-Section 1d: 416529333
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (58 to 62)

Cuestion Label : Comprehension

Directions : The 3 - D figure shows the view of an object. Identify the correct front view in the
direction of the arrow, from amongst the answer figures.

Sub questions

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

s
2 [—
o
4.|_I;:

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

-

1.

4 L )

Question Number : 60 Question Type: MCQ Option Shuffling,: Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S

A
o -
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o ",
o -

'L___.- '.

'1-\.\_
'\-.

Options:
1.
2.
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

il

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P

WS
"{-\a_\_&
Options:
Hl
1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (58 to 62)
Cuesticon Label | Comprehiension

3897 : 3- D 99 shfa # U a5 & U gv9 ol [g@MET 41 § | o1 i fg9n # <@ 8y, mmﬂ"@ww
I AHITI H F TE=T |
Sub questions

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 ~

Options:

5
2 —
e
=i

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Options:

-

1.

4 L )

Question Number : 60 Question Type: MCQ Option Shuffling,: Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S

A
o -
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o -

'L___.- '.

'1-\.\_
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Options:
1.
2.
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

il

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P

WS
"{-\a_\_&
Options:
Hl
1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (58 to 62)
Cuesticon Label | Comprehiension

YL 3-D 2usld wis yeeld g i 8, dlRedl [l sddl wad Wiz Wi g sveiiel gl 44
531,
Sub questions

Question Number : 58 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 S

Options:

M,

|_|_
> [ |
i
=

Question Number : 59 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
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Options:

-

1.

4 L )

Question Number : 60 Question Type: MCQ Option Shuffling,: Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

S

A
o -
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o ",
o -

'L___.- '.

'1-\.\_
'\-.

Options:
1.
2.
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Question Number : 61 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Options:

il

Question Number : 62 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

P

WS
"{-\a_\_&
Options:
Hl
1
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7 VAR

Sub-Section Number: 8
Sub-Section 1d: 416529334
Question Shuffling Allowed : Yes

Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (63 to 65)
Cuesticon Label | Comprehiension

Directions : The 3 - D figure shows the view of an object, Identify the correct front view in the
direction of the arrow, from amongst the answer figures;

Sub questions

Question Number : 63 Question Type: MCQ Option Shufflingy Yes)Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

s

s
1
f 1
g J
Options
[ ]
1.
e I
2.
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Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Options:

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (63 to 65)
Cuesticon Label | Comprehiension

fE9T : 3- D wvA Arepfa | U o % UF 399 H fo@ra T ) AR w6 e H SiEd g, T9e 99 v
w1 T FHfaE § F Te=nd |
Sub questions

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

J J 2
f

B
-
-
-\.\_

"

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical
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Correct Marks: 4 WrongMarks: 1
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Options:

VAR

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (63 to 65)
Juestion Label - Comprehension

YAl 1 3-D sl =15 wgisld g2 Al 8. dlaedl Bl sacl Mg w0 9o g st 2igldaiuial A4l
53,
Sub questions

Question Number : 63 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

]
) {v',‘:l
b
"'*-\.__H "\-\..-""f_,.""-
= T
Options:
[ ]
1
—
I
2.
I
3
[ |
4.

Question Number : 64 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

E

Options:
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A

Question Number : 65 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

9
416529335
Yes
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No @

Question Numbers: (66 to 80) \ —
Question Label : Comprehension l\ /IlcW
Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In which Indian city would you find the
mosque with “Shaking Minarets” 7
Options:

i Hyderabad

Lucknow

[J

Ahmedabad

1

: Allahabad

e

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display\Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Ellora in Aurangabad(Maharashtra) is
famous for ancient caves representing
Buddhism, Hinduism and Jainism. Of
these, the largest number pertains to... 7

Options:
! Buddhism
Hinduism

5 Jainism

4 Zorastrianism

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Which one of the following is a renewable
source of energy ?

Options:

1 Coal

> Natural gas
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5 Ocean waves
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A
4. Gil

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Everyone knows "The Taj Mahal’. It was
built by the Emperor Shah Jahan, but for
whom ?

Options:

1 Jahani Mahal

5 Farida Mahal

3 Mumtaz Mahal

J Toba Begum

~

Question Number : 70 Question Type: MCQ Option Shuffling : Yes,Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Where is the world’s largest panoramic
sculptural relief located ?

Options:

. Kanchipuram

» Madurai

= Pondicherry

¥ Mahabalipuram

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

In which place in India can we find cave
temples of three faiths ?

Options:

1 Madurai

> Delhi
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2 Ellora

®
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4 Agra

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of these is not a planned city of
India ?

Options:

L Kanpur

5 Bhubaneshwar

4 Chandigarh

y Gandhi nagar

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display\Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Whois the Architect of “LIC Building, New
Delhi” ?

Options:
1 Charles Correa

5 Laurie Baker

Le Corbusier

BV Doshi

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Which is the highest Award for
Architects ?

Options:
1 Pritzker's Award

5 Aga Khan Award

3 Rechter Prize
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Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The house called "Falling Waters’ was
designed by which one of the following
architects ?

Options:
i James Sterling

5 Frank Lloyd Wright

Walter Gropius

" Frank Ghery

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

~

The maximum heat gain in a building is
from which part of the building :
Options:

1 Floors

> Doors
= Roofs

4 Windows

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Shady trees can help protect a building
from the summer sun when these are
located on which side :

Options:
1 North

o South

= East
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4 West @_
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Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Whatis the role of lintels in a building ?

Options:
] Give light to buildings

Support the portion above wall
- Openings

% Separate the rooms

Support the windows

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In side hung windows the hinges are fixed ~
on which side of the shutter ?

Options:
1. Top

- Bottom

- Side

4 Middle

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
‘Mona Lisa’ is which of the following ?

Options:

i A painting

5 A Queen

3 An Actress

A Dancer
4.
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No

Question Numbers: (66 to 80) A}
Question Label : Comprehension \ / I|:W
Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
&g wrEE wEt ¥ o fees g 1At
= WY AiEas oo ?

Options:

Question Number : 67 Question Type: MCQ Option Shuffling: Yes Dlsplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

TR (RN H wem dig o, By e
¥ fou 9fas 31 o 4, 999 99 9en 9
Options:

| AlG o
2%’1%

Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Frafafaa § T 56 o S =1 9399 9 2 7?

Options:

1. THIEE
2.53[ b
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Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

W HE A’ TEA § | T8 THIE el
BRI A T 91, iR TR o 7

Options:

1. 'Iﬁqga

Z. d E

- THAS Hew
4 o AT

o

Question Number : 70 Question Type: MCQ Option Shuffling : Yes*Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
feem 7
Options:

| HTETTE
o TS

Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 )
AR H e M W EH dF 9H % T EiE
FIMHFAE?

Options:

%

1. S
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3 et ©_
N4
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Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T F FH 91 9Ra F1 e v @ 82
Options:

i I
z. 1 e

3.r ;

i T T

Question Number : 73 Question Type: MCQ Option Shuffling : Yes=Risplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

“umeEl fafesn, 5 fooell'! @ e
HEE?

Options:

1 = o o f
o TG T
2 © Corbusier

R

Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
87
Options:

| oz = qeEn
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o AT T T o_
N4
5 TR &R

4%3{@5&

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
" T aTed | A T Tt SRR
H 9 fas g fesea fan T a2

Options:

| S Efe

5 s O | Dt

Swzﬁﬁw

4. ﬁﬁ?%ﬁ

Question Number : 76 Question Type: MCQ Option Shuffling :'Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

e H Tl gy wfe e fe 9 s @2
Options:

1 B

% !

Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
FTAER U2 A F1 TH H UF TR FI @ H
Teg & Td ¢ o9 F T i e ¥

Options:
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5 19

4 =

Question Number : 78 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T TARA 1 feiea =1 yfas F=n e ?
Options:

THIAI 2] WY S

1.
Siarl = gl e o T 97 F 98
5 &
= P : a,f{ 4

. sl 1 Her &

Question Number : 79 Question Type: MCQ OptionShuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T T 9 go arell (EeH! & Fe T W
BAE?

Options:

1. o

2_7ﬂ:~[

=z HES W

[a) =

= 7
4.

Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A o frefafad § 9 @ g?

Options:
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Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions: No
Question Numbers: (66 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Sub questions

Question Number : 66 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
QUL 541 AL el BAR 2idd )7

Options:
| CEIE

5 QUL

“{HEHIE

4 MESllE

Question Number : 67 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
LU (HERPY) - ezl 24 elles, [ 2
st U UAMEr sl weld sl e
salld 6. wunidl Hiell ay dvaud] ol
doiy il 28 67

Options:

L elles 9 Mg

, (gl
3. o 8 WA

; R EZHAE 1A
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Question Number : 68 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes SingleLine v 1
No Option Orientation : Vertical I\ Ew

Correct Marks: 4 Wrong Marks: 1
AlziArizll 52U Gled Hid Y 67
Options:

sledl

o Mulds St

5 &g e

. gy (dd)

Question Number : 69 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

45 clsl “lerndd” ol WkBA 8. o wue
Iessrel 24 cleleadl edl.  del d sl gl
ofi=L el

Options:

| vl uea

o HIEL Hed

A -
o Yl e

4 2ledl oM (Toba Begum)

Question Number : 70 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
gl el g UARBs -2 sevaza-<llas sl
2eg 87
Options:
sizllyy

, R

n AN
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Question Number : 71 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

UL 58 oI AL 2R 245t 4L sdell
UL

Options:

| MBS

5 [Eedl
ez
= pel=l

=M |2
4 EL

Question Number : 72 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1 S
Azl 54 2k 2uler-oa 2117
Options:

| SR

o MR

5 Asbr

4 Al

Question Number : 73 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

“LIC [Geshl, =y Bedl” AL ardgsi slo 87
Options:

| A sl

4 AlZl w52

5 o 51*3%{11{:: (Le Corbusier)
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Question Number : 74 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Aidslzl 12l Al el ysr 2467
Options:

| Bleatsr yrasw

5 2P YRR5R
5 2823 Y25k (Rechter Prize)

, ey

Question Number : 75 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

“sldol izl AL Bl s Al
5191 ¢di?

Options:

, s+ 22(dal

o b5 dlds e

. dicen Al

4 5 02|

Question Number : 76 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1 )

Wil 4L el diell o ol 2l 57
Options:

, bl

o ERellsaiEll
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Question Number : 77 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Hstrtrl Gettouddl azaflell 28l wo d dopll seziER
(BHIER) 9l 58 clsga el sag1)

Options:

1 Glaz

]
N ACL

~

Question Number : 78 Question Type: MCQ Option Shuffling : YesDisplay Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
sl [Aeaddl ofist o 97
Options:

;ML HsLeL el

o Vel ol 25l el
o wlRsield 2EL sl

4 Al 25 2l

Question Number : 79 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :
No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

uig olleyal Wedl il Hsdrt 2zael 56

Glog o AL 24 8]
Options:
G
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Question Number : 80 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single Line Question Option :

No Option Orientation : Vertical
Correct Marks: 4 WrongMarks: 1

“iel [Fa ARl 2 997

et

Options:

s B
> s el
I CRE

-.-\l\I .3
, s o

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

Drrawirlg
416529213
3
Offline
Mandatory
3
3
70
Yes
No

1
416529336
No

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes

Correct Marks: 20
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(a)

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes

In the space provided in the answer
sheet for this question, draw margin
lines to form a frame. In this frame
create an aesthetic composition using
only equilateral triangles. These
triangles can be of any size, and may
be placed separate, overlapping or
within each other. Design and draw
to produce an aesthetic and visually
exciting composition of these
triangles in the frame without making
it look like any form like house face
etc. The spaces created by the
composition should be filled with
some colors of your choice so that the
visual quality of the composition is
enhanced. Use of drawing
instruments is allowed. 20 Marks

Correct Marks: 20

(@)

Question Number : 81 Question Type: SUBJECTIVE Display Question Number : Yes

4 99 F o 3@ 99 H WeM 1 T
e H, 9 =991 F fau e T
FAT0 | 59 WA H Fael GHged e
IUERT FF U Hied = I F
froget feredit off SR 1 &1 T €, 3R
SET- AT, AT 91 UF g6 F
it T & 9l &1 FH H 3T B
+1 U Aied IR 3 ¥ 0=+
=1 fmtor 2 o feu fese sfeel L,
TH R ¥ Hel e 5y fFdt o = =i
T fema & fan | 9= g 9 T
T w1 Al e FE T 9l
ST =MeT A 399 TOEE SIEA el
TR | SIS IS W SET T &
Sﬂ'qﬁl%t 20 Marks

Correct Marks: 20

®
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(a)

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes

L WAL sfellel M2 BMAED 2udd
s 2is 5 ctrleel W sifF-auEl
BRL @Al EHHL 55 dtetsy BstelAl Guaiol
59l @iy er ddllord vl 2L BEslel
AN o HAL 2 2as-ofleadll sgRL, 2i5-
oflsd Gluz 5 =igz ysl usl ol w0
Bistolell 24 g3l uz 5 e Bt 4
Guer d 3ld eastpil 2usts @l detl Ullsr--
wilorA 531 B SRl 24 Hellerell 22
wie gl Hepurds 390l 200 5 srell didlertl
geael ool qAEl AR 2uisA-
Guszeti-l (drawing instruments)
Guriet 531 sl sl 20 Marks

Correct Marks: 20

(b)

Draw the mirror image of the graphic
shown below about the line X - X.
Your drawing should be technically
correct in the drawing of lines and
their positions. 20 Marks

(X)

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes

(X)

Correct Marks: 20

®
N\ IEW
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(b) ®ET X - X & Hay H = famm 7o
TifteR 1 S B A | ST 2 NVA

AT HAR S Th1 fefa o famm & gt
w9 § Hel B =ifeu | 20 Marks
(X)

(X)

~

Question Number : 82 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 20

(b) =i Al X - X A urdat 2ARH wldlie
BRL 2l Be Yl i ddl 22
el 2slsdll w2 Sy e,

20 Marks
(X)
(X)
Sub-Section Number: 2

Sub-Section 1d: 416529337
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Question Shuffling Allowed : No

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

(©)

Make a beautiful colorful design for
male shirting material. 30 Marks
OR
Draw a picture of your favourite film
star as realistic as possible.
OR
Draw from memory a picture of
your school showing the
surroundings.

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

()

T FHIS F FIE F foru v ger i

ﬁﬁ]’ﬁﬂ‘"ﬁl 30 Marks
T
TATHY AR F B Y H A9 THEE
fiFer =R &l U T 9970 |
T <
T Ty T 21 |

Question Number : 83 Question Type: SUBJECTIVE Display Question Number : Yes
Correct Marks: 30

()

YAl vl stus-l g2 1uer g
Selisil. 30 Marks
w94l
DAL HeHE (el Brorid 2usH el deq
Aales R il
w144l
il 2uouHl LRl s eH ik,
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